CPSC S2IT Jon 21, 20605

M 6\\,]/6!\ ~ \/y e ceig SCCkUe./\LQJ l

L@zﬂ Fime

S\)Sl SQ’},S/ “Hf\cr\ :

ek
H’Z[S] JT QC’WV\'C/\- ﬂz“ k»f\eg,\r\
Sing e N
G (v )
0 fos €,(6) = ROV

oy { SRV w{v\/,l vié\7}
;€ I



/]here S @ h@ﬁwo\ g]'\p\ﬁ-l Nt (‘ng\d

0= (505, ) - (RS
— lllfiugz,?’%O



ShS, €S,

R{sies, T ¢ M(s)

ey § =4 A,8c b

5. = h v s {ob)

QCJJ—:L‘B € HZES\(\CL]

NS e G C-y7 N

and U= LA = G
P btk ﬂ[gﬂ)m@\rﬁﬂ



Ug O\/ﬁ KO—L i gl d ’U~O

W leicl ! k —\) &) \ L‘ﬁ)

VAN l CSX Y,

(= 1L [S\f\iﬂ UZ@\
m@ﬂ

G»L&M\(l le

Ac-fE NS (e b 3
Y3 (ac-fv) {1 BN

- O



Clawnl GO ts eyen

et
R §

_ \ — _
B ,%D\ 7 KUO Uﬂ/ﬁ}

i—[)m%@w{ﬂ\ T {Mr (d\)> Mo perriten
(U.,40)

X et 'C%%d e a\\ \Pog‘;*\\w\g

R

~

gc) C%“B G_Jr U3
Jv  dy

O — O— KE&AS—L B
.
U, g






e ) e Loy

o
T+0 M ﬁl(g\f\gll

Alre (f}@f\j() \TaN R&]@W@&J

=

Nﬁx)& \‘/J b S e
U7 ﬂ‘blq UO

N
08,052 A s entsd— RGes)

C LC(w

T Ll < ker (9)
/
/L(wﬁ)t)\ftﬂlﬁ»ﬂgﬂ} i






Aczt < R(s,]
NnJt [ﬂC&‘zl
Oq%zg) G;) lﬂ /QA(ZB ”@7, -0

U= % ﬂz ngj



N Sy \/\‘C€<>

(S, K&QZCSZ] S [z[g 05 )
V@,5) 7 T

C Xeed -

bty ) o Lff( M&u@]ﬁﬂ
= L5 v e

\7 QLS Jm"dé@kw< COWQB



Crglel
§1 ; ZL Q’@)C)blr
ST b

St RABGYE
T pieed elvin of I Cgtble
b v o bt Cr ot be |

(ar, <1[l> w

g, —G_’L

S5y kb




(/:\ S\/\Qﬁk EX A SGiUfnc,t S AN

CRacd ¢ ef(/be/\ﬁ‘{

. d.

00U — U — U - 4
pa
MELPrS Y f;z N c\ngacb\re (’Zf\g) {arB

OL ls {‘\J\(‘iZ/(JJW\f\ CQAL pm)

jﬁ\m«%o CJ!Z) 7 \464& ) ) (lj% W”SJ

—

Si
/)v
O-(5a5,) = QCSJQWZC%}EB R(5s,)

: — (Y
S o Thetl exedd TG Lot L,



Now‘\ b\(co@i?

G va)é} ) Grlwe) < G
G (A, G

and
C\ngjG3 J\/_L\/\TZ’T_J\—]
C,vCe
CL061 3);(7(/
J _
o \(\‘\/1)61061
Ay
G AN S
R @\é\g -
L@e@ M
\/v\\\/\c)



RV R (K7)

€, (G - lR‘(—\/RI) < (Ga):’/‘z@a]
Cleing, ) = Ry n5)
So

C— EDO(@; NG, \ '/Lia E)o (§1) & C-) {@L)

N C G 6,0
S\W\;\W\\’\
//u
6=C (@ e, )= C féﬂéfj ()

N
— CUE W6 N0



s RS
G~Cl6ne )= € 668 6\ E (606~ 6

O J oo i)
G - fD(G\nGl}_q CO[G‘\ Q’\GD(GL\ﬁ €D<GL U@jﬂ o
M, A%

o}

Q» [\/)\/’] %Z?C C\J'\LJC\/] :}
C e & /”/L\\S el FrEws

C Q,VV\VV\\IL‘?S .

I
C.leng )= € ()68, 6.
Al af, 3
60( G\ 3 G?\} — CQ[G)\ @"\GD(GL\
1)\/\0



